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Q.1 Consider the Y-A connected balanced three-phase circuit shown that has line impedance Z;;,. = 3j Qand

A connected balanced load with Z, = 12 — 95 Q.

a) Calculate /4

b) Calculate V,p

c) Calculate the total complex power of the A connected load.

d) Caiculate the total complex power of the line impedance Ziine

e) Calculate the total complex power delivered by the three-phase source.
f) What is the power factor seen by the source
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Q.2

Find the voltage V1 (magnitude and phase) indicated on the circuit shown below.
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